

INVESTIGATING THE POTENTIAL USE OF PLANT-BASED COMPOUNDS AS ENVIRONMENTALLY FRIENDLY MANAGEMENT STRATEGIES FOR CONTROLLING ROOT KNOT NEMATODES IN CABBAGE CROPS

Halimat Shola BABA^{1*} and Oluropo Ayotunde APALOWO²

¹Department of Crop Protection, University of Ilorin, Ilorin, Nigeria

²Department of Crop Science and Horticulture, Nnamdi Azikiwe University, Awka, Anambra State;
email: oa.apalowo@unizik.edu.ng

*Correspondence: baba.hs@unilorin.edu.ng

Received: Aug. 3, 2024. Revised: Oct. 15, 2024. Accepted: Oct. 25, 2024. Published online: Dec 23, 2024

ABSTRACT. Vegetables are infected by root knot nematodes, especially *Meloidogyne incognita*, which results in both quantitative and qualitative losses. This study's objective was to assess the effectiveness of plant extracts from *Senna alata* and *Tamarindus indica* in controlling cabbage-infecting root knot nematodes. The experiment was carried out to determine the effect of aqueous and powdered extracts of *T. indica* and *S. alata* on the control of root knot nematodes in two cabbage varieties. The test plants underwent phytochemical screening. Data were gathered on plant height, shoot weight, root weight, yield and soil nematode populations. All numerical data were subjected to analysis of variance using the GENSTAT statistical programme. Treating F1 Majesty and F1 Minotaur with powdered *T. indica* extract resulted in a significantly better

($p > 0.05$) growth and yield (62.77 cm and 53.77 cm) than the other treatments. Significant variations were found between the shoot, root and yield weights of treated plants and their control counterparts. The positive control had the highest number of galled roots in both varieties (6.25 and 8.27). The treated plants performed much better than the control plants. The experiment also revealed some compounds, such as hexadecanoic, butyric and octadecadienoic acid. Based on this study's findings, it is advisable to make use of these botanicals (*T. indica* and *S. alata*) on root knot-infested farms, as they are cheap, available and eco-friendly alternatives to chemical nematicides, which are expensive and not environmentally friendly.



Cite: Baba, H.S.; Apalowo, O.A. Investigating the potential use of plant-based compounds as environmentally friendly management strategies for controlling root knot nematodes in cabbage crops. *Journal of Applied Life Sciences and Environment* **2024**, 57 (4), 619-630.
<https://doi.org/10.46909/alse-574155>

Keywords: infecting; phytochemical; screening; significant; varieties.

INTRODUCTION

Cabbage (*Brassica oleracea* L. var. capitata) is an important leafy vegetable from the Cruciferae family (Firoj *et al.*, 2016). India ranks second (8,755,000 tonnes annually) to China (33,881,515 tonnes annually) in cabbage production (Khan and Khan, 2021). In India, West Bengal (29.55 million tonnes) was the leading vegetable-producing state, followed by Uttar Pradesh (27.70 million tonnes) in 2018–2019 (Jayan, 2020). According to Dong (2018), the majority of this vital vegetable is produced in northern Nigeria, specifically Plateau State. Plateau State has the greatest altitude of all states in Nigeria, resulting in some areas with extremely cold climates that promote the production of peculiar crops. Cabbage can be pickled, fermented (for meals like sauerkraut), steamed, stewed, sautéed, braised, or eaten raw. It contains high contents of vitamins C and K, with 44% and 72% of the daily intake per 100 g, respectively (Jonatan and Maira, 2021) and is also a rich source of vitamin B6, calcium and dietary fibre (Tse and Eslick, 2014).

Cabbage production in developing nations is affected by factors such as insufficient farm inputs, soil infertility, inadequate storage facilities, inefficient transportation networks, frequent pest infestations and disease outbreaks. Plant-parasitic nematodes (PPNs) are devastating soil-borne pathogens that severely reduce the growth and yield of agriculture crops. Of all PPNs, root-knot

nematodes (*Meloidogyne* spp.) are the most harmful pests worldwide.

Root-knot nematodes are plant parasitic nematodes from the genus *Meloidogyne* (Aminu-taiwo and Fawole, 2017). *Meloidogyne incognita* (Kofoid and White, 1919; Chitwood, 1949) symptoms on plant roots are striking because their feeding can cause enormous galls or “knots” to grow throughout affected plant root systems, thereby preventing regular nutrient and water uptake from the soil (Montarry *et al.*, 2020).

Several approaches have been used in the past to combat pests and pathogens, such as root-knot nematodes. The most effective method has been fumigant application, as reported by Yadav *et al.* (2020). The use of synthetic chemical pesticides leads to unforeseen problems at the time of their introduction, as pesticides are generally persistent in nature (Baba *et al.*, 2020). This can cause secondary explosions of other pests, necessitating further control efforts (Tim *et al.*, 2020). Thus, the use of plant extracts as botanical control becomes necessary because they are simple to use, readily available, effective and environmentally benign, as reported by Mekidani *et al.* (2021), who investigated leaf extracts of *Tamarindus indica* (L.) and *Citrus sinensis* (L.) Osbeck on *M. incognita*.

Providing a solution to the difficulties posed by plant parasitic nematodes and food insecurity and boosting revenue through improved cabbage productivity are regarded as priorities. As a result, the sensitivity of cabbage to root-knot nematodes as well as the botanical effect on two cabbage varieties must be investigated. There is

then the need to exploit the use of these bio-nematicides, i.e. leaf extracts of *T. indica* and *Senna alata* (L) Roxb. against root-knot nematodes, i.e. *M. incognita* on cabbage plants. The use and acceptance of these bio-nematicides will be economical, less tedious and ecologically friendly, making them viable alternatives to imported, costly and environmentally persistent nematicides. Therefore, the aim of this work was to determine the susceptibility of cabbage varieties to root-knot nematode *M. incognita* under screenhouse conditions and its management using leaf extracts of *T. indica* and *S. alata*.

MATERIALS AND METHODS

Experimental site

This experiment was carried out in the screenhouse of the Department of Crop Protection, University of Ilorin, Nigeria.

Soil pasteurisation

Sandy loam topsoil was collected from farmland surrounding the Department of Agronomy Pavilion, University of Ilorin. The soil collected was steam pasteurised in a drum at 90°C for 9 h following a method modified from Gautama and Goswani (2002). The steam-pasteurised soil was allowed to cool for 72 h. The pasteurised soil was then weighed, and 8.5 kg was placed into each of 48 perforated 10-litre plastic buckets with an 11 cm diameter. The buckets were placed on a raised platform to prevent reinfestation by other microbes and stored within a screenhouse for planting.

Collection and preparation of plant extracts

The plants examined against *Meloidogyne* spp. on cabbage were leaves of *T. indica* and *S. alata*, both of which were harvested in the morning along the riverside at Kulende, Ilorin, Kwara State, before sunrise, and their identities were confirmed by the Department of Plant Biology Herbarium, University of Ilorin. *Tamarindus indica* and *Senna. alata* leaves were air dried for 14 days at room temperature (25-27°C). The aqueous extracts of the test plants were prepared by soaking 1 kg of the ground test plants in 4 L of 90°C hot water for 24 h, as reported by Oyedunmade and Izuogu (2011), and ground leaf extracts were sieved using 2-mm mesh. In both cases, the suspension was sieved through muslin cloth, and the resulting aqueous extracts were collected in containers. This functioned as a stock solution. Phytochemical screening and gas chromatography were performed on 500 g of powdered leaf samples by the Department of Chemical Engineering at the University of Ilorin.

Effect of plant extracts on cabbage plants infected with *Meloidogyne incognita* in a screenhouse

A study was conducted in the Screenhouse of Crop Protection, University of Ilorin, to determine the effect of aqueous leaf extracts on two cabbage varieties (F1 Majesty and F1 Minotaur) purchased from Premier Seeds, Sango area Ilorin, Kwara State. Perforated 10-L plastic buckets with an 11-cm diameter were filled with 8.5 kg of pasteurised soil and placed on an elevated platform to prevent reinfestation by other microbes. This

experiment used a 6×2 factorial design, with 4 botanical extracts, 2 controls and 2 cabbage seed varieties, and each was replicated 4 times, resulting in a total of 48 buckets. Two seeds were placed in each bucket and left to germinate. At 1 week after sowing, 3 holes were placed at the base of each plant with a glass rod for inoculum inclusion, and 40 buckets were inoculated with 500 newly hatched *M. incognita* juveniles. At 3 days after inoculation, 32 infected plants were treated with aqueous and powdered leaf extracts of *T. indica* and *S. alata* at doses of 10 mL and 20 g, respectively and this was repeated 1 month later. The remaining 16 plants were positive (inoculated plants) and negative (non-inoculated plants) in the morning and evening. The botanical treatments for the control of root knot nematodes were as follows: Ta: *T. indica* aqueous, Tp: *T. indica* powder, Sa: *S. alata* aqueous, Sp: *S. alata* powder, C+ve: inoculated control, C-ve: control without inoculation and treatment, V₁: F₁ Majesty cabbage, and V₂: F₁ Minotaur cabbage.

Nematode population extraction and estimation

To determine the exact population of *M. incognita* in the soil after the completion of the experiment, nematodes were extracted and estimated using Baermann's funnel technique and Cobb's sieving and decanting methods, respectively. The final soil nematode number was calculated using the reproduction index formula, $R = Pf/Pi$, where Pf represents the final nematode population and Pi represents the initial nematode population.

Data collection

Data were collected on plant height, number of leaves, leaf breadth, head weight, soil nematode population 1 month after planting (initial nematode population), and final soil nematode populations at harvest (11–13 weeks). Root gall index was rated using the method of Bridge and Page (1980), as described below: 0 – no root knots; 1 – few small knots, difficult to find; 2 – small knots only, but clearly visible, main roots clean; 3 – Some larger knots visible, main root clean; 4 – large, knots predominant but main root clean; 5 – 50% of roots affected knotting on some main roots; 6 – knotting on main roots; 7 – majority of main roots knotted; 8 – all main roots, including tap roots, knotted, few clean roots visible; 9 – all roots severely knotted; 10 – all roots severely knotted, no root system, plant usually dead.

Data analysis

All numerical data collected were subjected to analysis of variance (ANOVA) using SPSS software, and significant means were separated using Duncan's multiple range test (DMRT) at $\alpha = 0.05$.

RESULTS

GC-MS analysis of methanolic

***T. indica* leaf extract**

The methanolic *T. indica* leaf extract produced many peaks, each representing a different component, as illustrated in the chromatogram by gas chromatography-mass spectrometry (GC-MS). The identification of phytochemical compounds was based on the peak area, retention time and molecular formula (Table 1). The results

Evaluation of plant extracts as bio-nematicides

revealed the presence and retention time of hexadecanoic acid, butyric acid and octadecadienoic acid. Butyric acid had the highest molecular weight (284.50) at a retention time of 38.59.

GC-MS analysis of the methanolic *S. alata* leaf extract

In this extract, 11 compounds, including Methylpentadecanoate, Hexadecanoic acid, and Methyloctadec, were identified by their retention times in the GC-MS analysis of methanolic *S. alata* leaf extract and exhibited various phytochemical activities. Glycerol-1,3-dipalmitate recorded the highest molecular weight (568) at a retention time of 18.73.

Effects of treatments on plant height

Table 3 indicates the impact of plant extracts on the plant height in

cabbage types affected by root knot nematodes.

There was a substantial ($p < 0.05$) difference in the impact of plant extracts on plant height growth.

Cabbage treated with powdered *T. indica* extract had the highest plant height (26.38 and 28.38 cm), followed by aqueous *T. indica* extract (27.88 and 24.75 cm). Plants treated with aqueous *S. alata* extract showed a significantly higher plant height than plants treated with powdered *S. alata* extract (26.23 and 25.48 cm).

However, all treated cabbages were taller than the controls. The positive controls (inoculated cabbage) had the shortest plant height. F1 Minotaur outperformed F1 Majesty, with a plant height of 28.38 cm.

Table 1 – Bioactive constituents identified in methanolic extracts from *Tamarindus indica* leaves

Peak no.	Compound name	Molecular formula	Molecular weight (g/mol)	Retention Time (min)	Area (%)
1	Bicyclo[3.1.1]heptane, 2,6,6-trimethyl(1.alpha.,2.beta.,5.alpha.)	C ₁₀ H ₁₈	138.25	36.257	3.01
2	n-Hexadecanoic acid	C ₁₆ H ₃₂ O ₂	256.40	37.771	38.70
3	Butyric acid, 3-tetradecyl ester	C ₁₈ H ₃₆ O ₂	284.50	38.590	1.77
4	9,12-Octadecadienoic acid (Z,Z)	C ₁₈ H ₃₂ O ₂	280.40	38.884	56.52

Table 2 – Bioactive constituents identified in methanolic extracts from *Senna alata* leaves

Peak no.	Compound name	Molecular formula	Molecular weight (g/mol)	RT (min)	Area (%)
1	Methylpentadecanoate	C ₁₆ H ₃₂ O ₂	256	15.41	0.47
2	n-Hexadecanoic acid	C ₁₆ H ₃₂ O ₂	256	15.82	9.49
3	Methyloctadec-9-enoate	C ₁₉ H ₃₆ O ₂	296	17.08	0.93
4	6-Octadecenoic acid	C ₁₈ H ₃₄ O ₂	282	17.48	24.99
5	Octadecanoic acid	C ₁₈ H ₃₄ O ₂	284	17.69	18.08
6	Glycerol-1,3-dipalmitate	C ₃₅ H ₆₈ O ₅	568	18.73	2.99
7	9-Octadecenoyl chloride	C ₁₈ H ₃₃ ClO	300	19.79	1.19

8	9-Octadecenal	C ₁₈ H ₃₄ O	266	20.19	5.49
9	3-Hydroxypropyl-9-octadecanoate	C ₂₁ H ₄₀ O ₃	340	20.68	3.64
10	4Dimethylsilyloxypentadecane	C ₁₇ H ₃₈ OSi	286	21.64	11.87
11	2,3-Dihydroxypropyl-9-octadecenoate	C ₂₁ H ₄₀ O ₄	356	21.92	20.86

Effects of treatments on the number of leaves in two cabbage varieties

Table 4 shows the impact of plant extracts on the number of leaves in cabbage infected with root knot nematode. The effects of the plant extracts were not statistically different ($p>0.05$) in weeks 2 and 4. Plants treated with powdered *T. indica* extract recorded the highest number of leaves (14.75 and 16.00), followed by aqueous *T. indica* extract (12.75 and 13.00). Cabbage treated with powdered *S. alata* extract (13.75 and 14.50 leaves) outperformed that treated with aqueous *S. alata* extract (11.50 and 12.55 leaves). However, all treated cabbage recorded a higher number of leaves than the controls. Positive controls (inoculated cabbage) recorded the least leaves. Among the two cabbage varieties, F₁ Minotaur performed better than F₁ Majesty, having a higher number of leaves (16.00).

Effect of treatment on the leaf breadth of cabbage

Table 5 shows the effects of plant extracts on the growth and breadth of leaves in two cabbage varieties infected with root knot nematode. The effects of the plant extracts on leaf breadth significantly differed ($p<0.05$). Plants treated with powdered *T. indica* extract recorded the highest leaf breadth (12.05 and 11.35 cm), followed by aqueous *T. indica* extract (11.28 and 11.00 cm). Cabbage treated with powdered *S. alata*

extract had 10.60 and 10.28 cm leaf breadths and performed substantially better than the aqueous extract (8.98 and 9.60 cm). However, all treated cabbages recorded higher leaf breadths than the controls. The positive control (inoculated cabbage) recorded the lowest leaf breadth. Among the two cabbage varieties, F₁ Majesty performed better than F₁ Minotaur, having a higher leaf breadth (12.05 cm).

Effect of treatment on cabbage yield

The effects of plant extracts on cabbage yield affected by root knot nematode are presented in Table 6. The effects of the plant extracts on the yield of both varieties significantly differed ($p<0.05$). Treating F₁ Majesty and F₁ Minotaur with powdered *T. indica* produced considerably higher yields of 76.37 and 65.67 g, respectively.

However, F₁ Majesty treated with powdered *T. indica* had a higher yield than F₁ Minotaur. Other treatments performed better than the controls. The inoculated control had the lowest yield for both varieties (30.17 and 26.87 g).

Effect of treatments on soil nematode population

The effect of plant extracts on the soil nematode population of cabbage infected by root knot nematodes is presented in Table 7. Soil treated with powdered *T. indica* had the fewest nematodes in a 250-mL soil suspension (8.00 and 2.00 at harvest), followed by

Evaluation of plant extracts as bio-nematicides

soil treated with the aqueous *T. indica* extract, which contained 35.70 and 15.33 nematodes at harvest. Soil treated with aqueous and powdered extracts of *S. alata* performed better than the controls. Untreated soil recorded the highest number of soil nematodes, with 345.30 and 400.70 at 1 month after

sowing and 408.00 and 425.00 at harvest. Infected F1 Majesty cabbage had fewer soil nematodes than infected F1 Minotaur cabbage at 1 month after sowing and harvest.

Table 3 – Effects of plant extracts on the plant height (cm) of two cabbage varieties infected with root knot nematode

TRT	2 WAS		4 WAS		6 WAS		8 WAS		10 WAS	
	Var.		Var.		Var.		Var.		Var.	
Ta	7.68 ^a	6.43 ^d	12.78 ^a	11.15 ^d	17.47 ^{ab}	15.73 ^d	24.00 ^b	20.73 ^e	27.88 ^a	24.75 ^f
Tp	6.40 ^c	6.90 ^c	9.70 ^e	11.13 ^d	14.87 ^{cd}	15.63 ^d	20.60 ^e	22.65 ^b	26.38 ^b	28.38 ^a
Sa	5.60 ^e	6.83 ^c	10.33 ^c	12.00 ^b	16.17 ^{bc}	16.70 ^b	22.03 ^c	22.28 ^c	26.23 ^c	25.48 ^e
Sp	5.90 ^d	7.13 ^b	10.05 ^d	11.40 ^c	14.05 ^d	16.05 ^c	20.03 ^f	20.83 ^e	24.15 ^d	25.63 ^d
C+ve	6.88 ^b	6.28 ^e	9.38 ^f	9.73 ^e	15.05 ^{cd}	14.50 ^e	21.90 ^d	21.75 ^d	22.68 ^e	21.83 ^b
C-ve	6.83 ^b	7.48 ^a	11.40 ^b	12.13 ^a	17.75 ^a	18.03 ^a	24.48 ^a	24.75 ^a	24.88 ^c	25.73 ^c
LSD _(0.05)	0.12	0.11	0.09	0.11	1.49	0.10	0.12	0.34	0.08	0.07

Means in the same column with the same superscript letter(s) are not significantly different using LSD at a 5% probability level. Keys: WAS = Weeks after sowing; TRT = Treatment; Ta = Aqueous *Tamarindus indica* extract; Tp = Powdered *T. indica* extract; Sa = Aqueous *Senna alata* extract; Sp = Powdered *S. alata* extract; C+ve = Inoculated control; C-ve = Control without inoculation or treatment; V₁ = F₁ Majesty; V₂ = F₁ Minotaur; LSD = Least significant difference

Table 4 – Effects of plant extracts on the number of leaves of two cabbage varieties infected with root knot nematode

TRT	2 WAS		4 WAS		6 WAS		8 WAS		10 WAS	
	Var.		Var.		Var.		Var.		Var.	
Ta	3.75 ^a	4.00 ^a	6.25 ^a	6.25 ^a	7.75 ^b	8.00 ^{ab}	10.25 ^b	10.00 ^b	12.75 ^c	13.50 ^c
Tp	3.80 ^a	4.75 ^a	6.75 ^a	6.75 ^a	7.50 ^a	8.25 ^a	10.75 ^a	11.50 ^a	14.75 ^a	16.00 ^a
Sa	3.40 ^a	4.00 ^a	6.15 ^a	6.75 ^a	7.00 ^c	7.25 ^{cd}	9.00 ^c	9.50 ^{bc}	11.50 ^d	12.55 ^d
Sp	3.75 ^a	4.00 ^a	6.05 ^a	6.50 ^a	5.65 ^b	6.75 ^d	8.00 ^d	9.00 ^c	13.75 ^b	14.00 ^b
C+ve	3.75 ^a	4.75 ^a	6.05 ^a	6.00 ^a	6.55 ^b	7.40 ^{bc}	7.75 ^e	7.00 ^e	9.25 ^e	10.50 ^c
C-ve	3.75 ^a	4.75 ^a	6.75 ^a	6.50 ^a	7.50 ^c	8.00 ^{ab}	8.00 ^d	8.25 ^d	11.00 ^d	12.10 ^d
LSD _(0.05)	Ns	Ns	Ns	Ns	0.34	0.39	0.44	0.46	0.60	0.66

Means in the same column with the same superscript letter(s) are not significantly different using LSD at a 5% probability level. Keys: WAS = Weeks after sowing; TRT = Treatment; Ta = Aqueous *Tamarindus indica* extract; Tp = Powdered *T. indica* extract; Sa = Aqueous *Senna alata* extract; Sp = Powdered *S. alata* extract; C+ve = Inoculated control; C-ve = Control without inoculation or treatment; V₁ = F₁ Majesty; V₂ = F₁ Minotaur; LSD = Least significant difference

Table 5 – Effects of plant extracts on the leaf breadth (cm) of two cabbage varieties infected with root knot nematode

TRT	2 WAS		4 WAS		6 WAS		8 WAS		10 WAS	
	Var.		Var.		Var.		Var.		Var.	
Ta	2.25 ^a	1.88 ^c	3.63 ^c	4.18 ^a	6.25 ^c	6.58 ^a	9.10 ^c	8.45 ^a	11.28 ^b	11.00 ^b
Tp	2.08 ^b	2.08 ^b	3.40 ^d	3.88 ^b	4.93 ^f	6.13 ^b	7.55 ^e	8.23 ^a	12.05 ^a	11.35 ^a
Sa	2.05 ^{bc}	2.33 ^a	3.63 ^c	3.60 ^c	5.90 ^d	4.68 ^f	8.73 ^d	7.95 ^c	8.98 ^e	9.60 ^d
Sp	2.00 ^{cd}	2.08 ^b	3.43 ^d	3.50 ^d	5.48 ^e	5.23 ^d	7.43 ^f	7.83 ^d	10.60 ^d	10.28 ^c
C+ve	2.03 ^{bcd}	2.00 ^b	4.10 ^a	3.15 ^e	7.50 ^a	5.00 ^e	9.00 ^b	7.15 ^e	9.00 ^e	10.15 ^c
C-ve	1.98 ^d	2.03 ^b	3.83 ^b	3.65 ^c	6.83 ^b	5.95 ^c	10.03 ^a	8.10 ^b	11.35 ^b	11.33 ^a
LSD _(0.05)	0.07	0.09	0.08	0.09	0.09	0.09	0.09	0.08	0.12	0.09

Means in the same column with the same superscript letter(s) are not significantly different using LSD at a 5% probability level. Keys: WAS = Weeks after sowing; TRT = Treatment; Ta = Aqueous *Tamarindus indica* extract; Tp = Powdered *T. indica* extract; Sa = Aqueous *Senna alata* extract; Sp = Powdered *S. alata* extract; C+ve = Inoculated control; C-ve = Control without inoculation or treatment; V₁ = F₁ Majesty; V₂ = F₁ Minotaur; LSD = Least significant difference

Effects of treatments on the gall index

Table 8 shows the galling index of cabbage plants as affected by the plant extracts.

There was a significant ($p < 0.05$) difference in the number of galls found on the roots of both varieties. The positive control (inoculated cabbage) recorded the highest root gall rate compared with treated cabbage (6.25 and 8.25, respectively).

There were significant differences between the treated cabbages. Cabbage treated with powdered *T. indica* extract had the lowest root galling rate, followed by roots treated with aqueous *T. indica* extract. Cabbage roots treated with *S. alata* showed the most gall rooting with both aqueous and powdered extracts. F1 Majesty treated with plant extracts had much smaller root galls (0.75).

Table 6 – Effects of plant extracts on the yield (g) of two cabbage varieties infected with root knot nematode

TRT	V ₁	V ₂
Ta	62.77 ^b	53.77 ^b
Tp	76.37 ^a	65.67 ^a
Sa	52.30 ^c	50.37 ^b
Sp	62.07 ^b	50.53 ^b
C+ve	30.17 ^e	26.87 ^d
C-ve	40.40 ^d	35.63 ^c
LSD(0.05)	7.39	6.35

Means in the same column with the same superscript letter(s) are not significantly different using LSD at a 5% probability level. Keys: WAS = Weeks after sowing; TRT = Treatment; Ta = Aqueous *Tamarindus indica* extract; Tp = Powdered *T. indica* extract; Sa = Aqueous *Senna alata* extract; Sp = Powdered *S. alata* extract; C+ve = Inoculated control; C-ve = Control without inoculation or treatment; V1 = F1 Majesty; V2 = F1 Minotaur; LSD = Least significant difference

Table 7 – Effects of plant extracts on the soil population of two cabbage varieties infected with root knot nematode

TRT	F ₁ Majesty	F ₁ Minotaur
Ta	2.00 ^b	1.25 ^c
Tp	0.75 ^a	0.86 ^a
Sa	2.25 ^b	6.25 ^c
Sp	5.75 ^c	1.75 ^b
C+ve	6.25 ^d	8.25 ^d
LSD(0.05)	0.66	0.79

Means in the same column with the same superscript letter(s) are not significantly different using LSD at a 5% probability level. Keys: WAS = Weeks after sowing; TRT = Treatment; Ta = Aqueous *Tamarindus indica* extract; Tp = Powdered *T. indica* extract; Sa = Aqueous *Senna alata* extract; Sp = Powdered *S. alata* extract; C+ve = Inoculated control; C-ve = Control without inoculation or treatment; V1 = F1 Majesty; V2 = F1 Minotaur; LSD = Least significant difference

Table 8 – Effects of plant extracts on the gall index of two cabbage varieties infected with root knot nematode

TRT	F ₁ Majesty	F ₁ Minotaur
Ta	2.00 ^b	1.25 ^c
Tp	0.75 ^a	0.86 ^a
Sa	2.25 ^b	6.25 ^c
Sp	5.75 ^c	1.75 ^b
C+ve	6.25 ^d	8.25 ^d
LSD(0.05)	0.66	0.79

Means in the same column with the same superscript letter(s) are not significantly different using LSD at a 5% probability level. Keys: WAS = Weeks after sowing; TRT = Treatment; Ta = Aqueous *Tamarindus indica* extract; Tp = Powdered *T. indica* extract; Sa = Aqueous *Senna alata* extract; Sp = Powdered *S. alata* extract; C+ve = Inoculated control; C-ve = Control without inoculation or treatment; V1 = F1 Majesty; V2 = F1 Minotaur; LSD = Least significant difference

Cabbage root response to *Meloidogyne incognita* and botanicals

Figure 1 and Figure 2 compare the response of cabbage roots to root knot nematodes and botanical treatments. Figure 1 shows galled cabbage roots infected with root knot nematodes without botanical application and Figure

2 displays clean cabbage roots inoculated with *M. incognita* and treated with botanicals.



Figure 1 – Cabbage roots inoculated with *Meloidogyne incognita*

DISCUSSION

The results demonstrated that root knot nematodes significantly decreased the height, number of leaves and yield of cabbage plants grown in nematode-infested soil, which exhibited retarded growth compared to their control counterparts. The treatment extracts (*T. indica* and *S. alata*) significantly improved cabbage growth and yield and reduced the soil and root nematodes. The effect of the botanicals might be due to the presence of organic acid compounds, such as butyric, hexadecanoic and octadecanoic acid. These findings are consistent with previous studies, such as Jacob *et al.* (2021), who investigated the effect of *T. indica* and *C. sinensis* leaf

and peel extracts to control root knot nematode.



Figure 2 – Cabbage roots treated with botanical extracts

Danahap *et al.* (2024) reported the effect of aqueous *Azadirachta indica* (A. Juss) extract on *Meloidogyne* species (root knot nematodes) mortality, and Udo *et al.* (2020) reported the use of *S. alata* leaf extract in the management of root knot disease in okra. Moosavi (2012) observed the efficacy of herbal powders and their aqueous extracts against *Meloidogyne javanica*. Among the treatment extracts, the powdered *T. indica* extract had the greatest influence on cabbage growth and yield, followed by the aqueous *T. indica* extract. Both aqueous and powdered *S. alata* extracts performed better than the controls in terms of growth and yield. Inoculated control cabbage (+ve) had a high level of susceptibility to root knot nematode, as evidenced by its heavily galled roots. This was followed by cabbage treated with *S. alata*, which showed a moderate level of susceptibility with few root galls. Non-inoculated (-ve) controls had

clean roots. Generally, all cabbage treated with botanicals performed significantly better than their control counterparts, showing increased growth and yield and reduced galling rates. The plant extracts were successful because they contained organic acids, such as butyric and hexadecanoic acid, which may have been responsible for stopping nematodes from feeding, migrating, enabling cell development and reproduction, and inflicting plant harm. The significant performance of *T. indica* on growth and yield and its effect on soil and root nematodes might be due to the presence of butyric acid, which was present in the extracts. Butyric acid supports plant development with a high yield and has been used to control parasitic microorganisms (Šípošová, *et al.*, 2021). Therefore, the use of botanicals in the management of plant parasitic nematodes has been widely viewed as one of the most practical alternatives to synthetic pesticides, especially in developing nations because botanicals are cheaper, cost-effective, readily available and can be easily adopted by local farmers (Ngegba *et al.*, 2022).

The two varieties responded well to the pathogen; however, variety F1 Majesty performed significantly better than F1 Minotaur in growth, yield and nematode reduction. F1 Majesty's success with the treatments could be attributed to some inherent genetic characteristics. It is also likely that changes in soil physical and chemical conditions caused by soil amendment in the trials affected the plant–nematode connections, making the plant's roots more resistant to nematode development.

GC-MS identified the following compounds in *T. indica* extracts: Bicyclo[3.1.1]heptane, 2,6,6-trimethyl(1.alpha.,2.beta.,5.alpha.), n-Hexadecanoic acid, Butyric acid, 3-tetradecyl ester and 9,12-Octadecadienoic acid (Z,Z). *Senna alata* extracts contained Methylpentadecanoate, n-Hexadecanoic acid, Methyloctadec-9-enoate, 6-Octadecenoic acid, Octadecanoic acid, Glycerol-1,3-dipalmitate, 9-Octadecenoyl chloride, 9-Octadecenal, 3-Hydroxypropyl-9-octadecanoate, 4Dimethylsilyloxypentadecane and 2,3-Dihydroxypropyl-9-octadecenoate. Some of these organic acids affect soil microorganisms, support plant development and increase yield. Adekanmi *et al.* (2022) reported that butyric acid increased the concentration of some mineral nutrients, such as N, K, Ca, S and Z, in the soil.

CONCLUSIONS

This research suggests that *T. indica* and *S. alata* extracts can be utilised in the control of root knot nematodes and may have potential as biopesticides for the control of nematodes, as they displayed nematicidal properties. F₁ Majesty performed better than F₁ Minotaur because it displayed clean roots (no galls) at harvest. More research might help to determine an appropriate concentration of the botanical extract to be applied to soils highly infested with *M. incognita*.

Author Contributions: Conceptualization, methodology, analysis, data creation, writing was perfected by myself (HSB) and review was done by OAA. I declare that I have read

and approved the publication of the manuscript in this present.

Funding: There was no external funding for this study.

Acknowledgments: An extended to my institute and husband for moral and financial support.

Conflicts of Interest: There was no conflict of interest.

REFERENCES

- Adekanmi, A.A.; Olowoyeye, O.J.; Oluwadare, O.E.; Gabriel, A.S.; Abideen, A.A.** Senna Alata Leaf and Stem: Phytochemical Screening, Nutritional Content, and Antimicrobial Activities. *Journal of Environmental Impact and Management Policy* **2022**, 2 (6), 2799-113.
<http://dx.doi.org/10.55529/jeimp.26.1.11>
- Khan, A.; Khan, A.A.** Evaluation of Cabbage Cultivars through Screening against Root-knot Nematode, *Meloidogyne incognita*. *Research Journal of Agricultural Sciences An International Journal* **2021**, 12 (5), 1767–1772.
- Aminu-Taiwo, B.R.; Fawole, B.** Pathogenicity of *Meloidogyne incognita* on Four Cucumber Cultivars (*Cucumis sativus* L.). *Inaugural Conference of Nigeria Society of Nematologists* **2017**, Book of Abstracts, 16-17th October 2012.
- Baba, H.S.; Izuogu, N.B.; Oladimeji, A.; Olamilekan, H.** Biological Control Potential of *Bridelia wild* (*Bridelia ferruginea*) and Wild Sage (*Lantana camara*) against Root-knot Nematode of Tomato (*Solanum lycopersicon* L.). *International Journal of Research in BioSciences* **2020**, 32 (31).
- Bridge, J.; Page, S.L.J.** Estimation of Root Knot Nematode Infestation Levels in Roots Using a Rating Chart. *Tropical Pest Management* **1980**, 26, 296-298.
<https://doi.org/10.1080/09670878009414416>
- Danahap, L.S.; Ocheme, E.L.; Okechalu, O.B.** Nematicidal effects of *Azadirachta indica* A. Juss (Neem) seeds on *Meloidogyne* species (root-knot nematodes). *Journal of Biological Research & Biotechnology* **2024**, 22 (1).
- Dong, K.Y.** Cabbage (*Brassica oleracea* var. capitata) Protects against H₂O₂-Induced Oxidative Stress by Preventing Mitochondrial Dysfunction in H9c2 Cardiomyoblasts. *Evidence-Based Complementary and Alternative Medicine* **2018**, 2018 (1).
<https://doi.org/10.1155/2018/2179021>
- Gautam, C.; Goswami, B.K.** Different Combinations of Neem Cake and Carbofuran against *Meloidogyne incognita* on *Vigna radiata*. *International Journal of Nematology and Entomology* **2002**, 12 (1), 106-110.
- Jayan, T.V.** West Bengal Emerges at the Top in Vegetable Production. *Business Line* **2020**,
<https://www.thehindubusinessline.com/economy/agri-business/west-bengal-emerges-at-top-in-vegetable-production/article30609191>
- Jonatan, J.U.; Maira, R.S.** Cabbage (*Brassica oleracea* var. capitata): A Food with Functional Properties Aimed to Type 2 Diabetes Prevention and Management. *Journal of Food Science* **2021**, 86 (11), 4775-4798.
<https://doi.org/10.1111/1750-3841.15939>
- Kengere, A.D.; Esther, M.M.; Simon, M.M.** Cabbage (*Brassica oleracea*) Production in Kenya: A Review of Its Economic Importance, Ecological Requirement and Production Constraints. *International Journal of Plant & Soil Science* **2023**, 35 (18), 245-254.
<http://dx.doi.org/10.9734/IJPSS/2023/v35i183287>

- Šipošová, K.; Labancová, E.; Kučerová, D.; Kollárová, K.; Vivodová, Z. Effects of Exogenous Application of Indole-3-Butyric Acid on Maize Plants Cultivated in the Presence or Absence of Cadmium. *Plants* **2021**, *10* (11). <https://doi.org/10.3390/plants10112503>
- Mekidani, S.J.; Clifford, T.O.; Agaba, A.O. Effect of Tamarindus indica L. Leaf Extract and Citrus sinensis L. Osbeck Peel Extract on Meloidogyne spp (Root Knot Nematodes) in Jos, Plateau State. *International Journal of Pathogen Research* **2021**, *7* (4), 15-21. <https://doi.org/10.9734/ijpr/2021/v7i430188>
- Moosavi, M.R. Nematicidal effect of some herbal powders and their aqueous extracts against meloidogyne javanica. *Nematropica* **2012**, *42*(1):48-56
- Montarry, J.; Mimee, B.; Danchin, E.; Koutsovoulos, G.; Croix, D.; Grenier, E. Recent Advances in Population Genomics of Plant-Parasitic Nematodes. *Phytopathology* **2020**, *111*. <https://doi.org/10.1094/PHYTO-09-20-0418-RVW>
- Ngegba, P.M.; Cui, G.; Khalid, M.Z.; Zhong, G. Use of Botanical Pesticides in Agriculture as an Alternative to Synthetic Pesticides. *Agriculture* **2022**, *12* (5), 600. <https://doi.org/10.3390/agriculture12050600>
- Oyedunmade, E.E.A.; Izuogu, N.B. Efficacy of Aqueous Extract of Lemon Grass (Andropogon citratus L.) against Root-Knot Nematode Pests of Okra. (Abelmoschus esculentus (L.) Moench). *AJOL Agrosearch* **2011**, *11*. <https://doi.org/10.4314/agrosh.v11i1.4>
- Tim, M.; Daniel, F.; Dana, B. Organic vs. Conventional (Synthetic) Pesticides: Advantages and Disadvantages. www.pubs.ext.vt.edu (accessed on 10 December 2020).
- Tse, G.; Eslick, G. Cruciferous Vegetable and Risk of Colorectal Neoplasms: A Systematic Review and Meta-Analysis. *Nutrition and Cancer* **2014**. <https://doi.org/10.1080/01635581.2014.852686>
- Udo, I.A.; Uko, A.E.; Etim, D.O. Management of Root-Knot Disease in Okra with Poultry Manure and Leaf Extracts of Senna alata. *South Asian Journal of Parasitology* **2020**, *3* (1), 1-10. <https://journalsajp.com/index.php/SAJP/article/view/30106>
- Whitehead, A.G.; Hemming, J.R. A Comparison of Some Quantitative Methods of Extracting Vermiform Nematodes from Soil. *Annals of Applied Biology* **1965**, *52*, 25-28. <http://dx.doi.org/10.1111/j.1744-7348.1965.tb07864.x>
- Yadav, H.; Kumar, R.; Singh, S.M.; Yadav, H. Residues of Pesticides and Heavy Metals in Crops Resulting in Toxic Effects on Living Organisms. *Journal of Seybold Report* **2020**, *15*, 1527-1540. <http://dx.doi.org/10.13140/RG.2.2.24806.65609>

Academic Editor: Dr. Iuliana MOTRESCU

Publisher Note: Regarding jurisdictional assertions in published maps and institutional affiliations ELSE maintain neutrality.



© 2024 by the authors; licensee Journal of Applied Life Sciences and Environment, Iasi, Romania. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution License (<http://creativecommons.org/licenses/by/4.0>).